RE AT TN ERB A ERS (FIH)

g B H ==X = i ) " & B =E

WEHIEE

A BIET

Al BARBEL (B#&%) = 1.0

A-3 BIRBEIETL (%) = 1.0

A4 SFEEE = 1.0
C BT

-3 EAREKRKI (AH) = 1.0
D HEISEHEETL

D-2 EHERFEI (L) =® 1.00
E WA

E-1 XLAZFHEFMNY = 1.0
FEfn s

F-1 Efgasy =® 1.0




REFTERNERGAEER (AT

& iR B = i 4] " = =
EEIEZE
HiBRER
it b4 it (DIDAHIE)

HBRFEE

MIEE
RigEEE mifEH (DIDAHIE)
TER{f
—REEE ATFA A4 1 -131
Tt
HEREAEE

TERHEF




REFTENERGAEER (AT

RES o
= = A R B | % = | B @ & # ® = =3
ABIET
A1 BABIET (B
120=6<150 & 1.0 N ES
150=<6<180 & 1.0 fRATi%-2

NG




REFTENEERB AR ERT (FrE)
NERE-2
TR 2 R e ¥ B OB @ 2 # w % #
A3 BABIET (53
120=0<150 ¥ 1.0 Hffizk-3

NG




RARFTENERBAEERE (FIH)
NERE-3
= = A R By % = B @ & # " % 3
A-4 SFERE
IR b T— L & 1.0 B 7 —L24m Banm

NG




REFTENEERB AR ERT (FrE)
NERE-4
TR 2 R e ¥ B OB @ 2 # w % #
C-3 HARET BARREA S
150=0<200 ¥ 1.0 R ffizk-4

INET




REFTENERGAEER (AT

RERFT-5
g B A R B | W = B {ifl & 25 " =& BE
DihE| S ERE({HET
D-2 EH|ERFI (L)
BITE, MSA, fRIR Bk, BN ER | B LEEH B 2.50 iy (£) e AfiR-5

NG




RERRT TN EEB AR E R (A1)
NERZR-6
z 2 R e % B | B OB | 2 4@ W % =
EXIA
E-1 XA - FHEEA Y
H<1.5 m 149.6 43.3+78.5+21. 8 R ffi k-6

NG




REFTENEERB AR ERT (FrE)
RESS
& E| s R By | % =2 | B ffi & % w = =
FiZEfRA0 5
F-1 &gy
2 t EERLS 15km B 1.0 iR~

NG




REBFF TN EREB RN EXR (ATH)

HKifiz&-1
& =] N iR B | & 2 B @ = 2 e %= mE
BAMET (B#) 10K L1 Y
120=C< 150 EET A 14.2 i
TEEXE A 4.2 % ¥ B A
&Et
[E:N=V




REFTENERSATEERS (FIH)
KA ER-2
& =] N R By &% E i = & e %= =
BANEL (%% 104K L1-Y
150=C<180 EET A 14.85 575 BT
TEEXRE A 4.45 g Lt
att
[E:N=V




REFTENERGAEER (AT

KAmFz-3

& B A R B | #H 2 B & %8 " & W E
BIABEEL (GB%E) 10KLf-Y
120=(¢<150 EET A 14.2 75 B 1

TEMEEE A 4.2 % 75 B 1
&5t
1 N=F )]
12




REFTENERGAEER (AT

Al = -4
& = " R B % =2 | H @ & 8 w & =
BARBREKET (A7) A7 10R51-Y
150=<C<200 EET A 23.70 F
TBEXE A 11.20 55 75 B AT
&&t
[E:N= )




REFTENERGAEER (AT

HAfiZR-5
& =] N iR Bl & = B i & £ & &= M=
DB REREMHT SEMEHES
D-2 REEHETI (LLFI) BREMEXE A 6. 00 *BEFRERA %5 75 BT
EET A 6.00 * HETRFRA 55 75 B AT
HEER A 3.00 * WEITRIERA SIS H A
®& nnEFE—K = 1.0 AEED15%MEH

i
o

1B&f:-Y




REBFF TN EREB RN EXR (ATH)

R ffi %= —6
= N iR By & B i # s & =
WA ZFHETF M) 100 1= Y
H<1.5
EET A 1.10 SR
EREXRE A 0.30 gLt
&

I;IiE

eV




REFTENERGAEER (AT

K ffz=-7
g =l A R B | = B {ifl & ) " & BE
2 t HiEHk - 0y 2t &=y

EikE FriE15km = 1.0 B2
BARNSE ke 2000. 0 RiEE
&t

1t47:-Y
16




REFTENERGAEER (AT

Hi{fhizk-1
g B A R BAL | = i ) " & BE
Fr—>Y—&#x 80CC 600mm =EY
EEF YREXSR A 1.0 55 75 B A
R & Ay (REUK) L 2.7 BB
e #HRA 1.00
= . st x
EME =® 1.00 39 LI
A




REFTENERGAEER (AT

Hfizk-2
& = " R B % =2 | H @ & 8 w & =
2 t B3 #x (15km) 1EHEY
B F —h A 0.39 0.21 (HMBIRFTH) x1.9 | FHEM
A& Bim (REUF) L 6.09 B
Hma R h 1.9 1B Rt R B

X15kmDi5E

BRI REFME - 0.9h+ (15kmx 24£18) /30km) =1.9h /[H

YR EEES : 0.9h/2+ (15kmx2) /30km) X4.2 1 /h =6.09L /[






